Similarity Test Review #3

1. Solve the proportion:

2. Find MP
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If ACAT is similar to APIT , what is the length of p7
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A) not similar

B) similar; SAS similarity; AFES
C) similar; SAS similarity; ASFE
D) similar; SAS similarity; ASEF

5. Given that m and | are parallel lines, name the
following pairs:
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Angle 1 and angle 5:
Angle 2 and angle 7:
Angle 4 and angle 6:
Angle 1 and angle 5:
Angle 1 and angle 3:
Angle 6 and angle 7:
Angle 3 and angle 5:
Angle 3 and angle 6:
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6. If measure of angle 5 = 67°, find measure of angle 3

3) Find RQ
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7. If measure of angle 1 = 49°, find measure of angle 7
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DATE

Chapter 7 Mid- Chapter Test

(Lessons 7-1 through 7-4)

PERIOD

SCORE

IiEIae i Write the letter for the correct answer in the blank at the right of each question.

ﬂ‘) Polygon ABCD is similar to polygon PQRS. Which proportion must be true?
AC _ PQ g BC _ QF c AB _ P4 p CD _ PQ

AD ~ PS CD RS BD QR AB RS

[ (’j This fall, 126 students participated in the soccer program, while 54 played

volleyball. What was the ratio of soccer players to volleyball players?

3 3 4 : 7
F 7 G H 3 J 3

ID The ratio of the measures of the angles of a triangle is 2:3:10. What is the

least angle measure?

A 12 B 15 C 24 D 36
) 2)Fmd the value of x.

F 2 H6

G 4.8 J 6.4

‘gRectangle ABCD ~ rectangle EFGH, the perimeter of ABCD is

54 centimeters and the perimeter of EFGH is 36 centimeters. What is the

scale factor of ABCD to EFGH?

2 3 3 5
A"?T B2 : C5 D3

For Questions 6 and 7, determine whether each pair of
triangles is similar. Justify your answer.

i'ﬁ %)

4
) .18 25
10 : 3 10@ 85° 45

( 9 Determine whether MN || KL. 2) Find DE.
Justify your answer.

11 N 3

| Zj RECTANGLES A rectangle has a perimeter of 14 inches. A
similar rectangle has a perimeter of 10 inches. If the length of
the larger rectangle is 4 inches, what is the length of the
smaller rectangle? Round to the nearest tenth.
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3.

It ACAT is similar to APIT , what is the length of p7?

asu- ASEFE (D f
A) not similar
B) similar, SAS similarity; AFES
C) similar, SAS similarity; ASFE
D) similar; SAS similarity, ASEF

5. Given that m and | are parallel lines, name the
following pairs:

Angle 1 and angle 5: Corrésponc J’f?ﬁ‘/
Angle 2 and angle 7:_ad+. €xtenio—V
Angle 4 and angle 6: Cotsecatilie ntensor
Angle 1 and angle 5: &aw.zs:pm_lm;,
Angle 1 and angle 3: Piveun Pty ’

f) Angle 6 and angle 7:- V@(“}fﬁajp angles
Angle 3 and angle 5: éowsfm%w“";h!%;z‘)/
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6. If measure of angle 5 = 67°, find measure of angle 3

7. 1f measure-of angle 1 =

PO - 47

>-find measure of angle 7
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Chapter 7 Mid- Chapter Test SCORE

(Lessons 7-1 through 7-4)

I:ETaall Write the letter for the correct answer in the blank at the right of each question.

‘f) Polygon ABCD is simil on PQRS Which proportion must be true? \8
AC BC _ QR AB _ PQ cp _ PQ
A Ayf{igf/ (fifﬁﬂ_fﬁiﬁ C 50~ Gr DIE~%s =

: G 3

5" Lf/ %/ volleyball What was the ratio of soccer players to volleyball ? "
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s 5"12 The ratio of the measures of the angles of a triangle is 2:3:10. What is the
X2

=[50 least angle measure? C '
X={3 A 12 B 15 { 024) D 36 T
X
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! 2)Fmd the value of x.
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‘ﬁRectangle ABCD ~ rectangle EFGH, the perimeter of ABCD is
54 centimeters and the perimeter of EFGH is 36 centimeters. What is the

ctor of ABCD to EFGH?
_2_ 3 Y S 3 5
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For Questions 6 and 7, determine whether each pair of .
l e} - I & 4
triangles is similar. Justify your answer

I yes 25 45 w)’
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{ 9 Determine whether MN || KL. 9) Find DE.
Justify your answey.
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] @ RECTANGLES A rectangle has a perimeter of 14 inches. A
similar rectangle has a perimeter of 10 inches. If the length of

the larger rectangle is 4 inches, what is the length of the ? g 6 .
smaller rectangle? Round to the tenth. e . o
* PRES 22 2.7 in.
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